Warm Up

Determine the general antiderivative for the following:
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Antiderivatives involving chain rule...

Remember how the Chain Rule works...

flx)=[glx)]

f(x)=nle(x)" g'(x)

Examples:

(1) F(x)=(8x—5F (2) F(v)= ¥y1-55*
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(3) F(x)= v (4) F(x)= ( % )5
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Antiderivatives Involving Trigonometry

Remember the rules to differentiate
trigonometric functions...
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du du
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Antiderivatives would just be in the opposite direction

Examples:
Determine the general antiderivative:

(1) f(x)=sec2x - cos x + 2cscx cotx
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Antiderivatives Involving Inverse Trig Ratios

Remember the rules to differentiate
inverse trigonometric functions...
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Examples:
Determine the general antiderivative:
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